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QUESTION 1

When setting up security for a stand-alone IBM WebSphere Portalprofile that will become part of a cluster, which of the
following statements is correct?

A. Security should be set up on the stand-alone node prior to joining the deployment manager cell.
B. Security should be set up on the deployment manager cell afterthe node is added.

C. It makes no difference whether security is set up before or after the WebSphere Portal node joins the deployment
manager cell.

D. The IBM WebSphere Integrated Solutions console, not WebSphere Portal security tasks, should be used to configure
security.

Correct Answer: B

QUESTION 2

Which of the following tools is not used by an IBM WebSphere Portal administrator for staging data to a production
environment?

A. Managed Pages
B. Syndication
C. Release Builder
D. XMLAccess

Correct Answer: A

QUESTION 3
Which of the following options best describes the difference between horizontal and vertical clustering?

A. Vertical clustering takes full advantage of the resources of a multiprocessor system; horizontal clustering provides
fault-tolerance and scalability by adding additional servers.

B. Vertical clustering allows for users to authenticate against multiple LDAP sources; horizontalclustering allows multiple
servers to act as one server

C. Horizontal clustering replicates the back-end database in real-time; vertical clustering takes advantage of multiple
IBM WebSphere Application Servers as a single cell.

D. Horizontal clustering allows multiple HTTP servers to serve in a failover scenario; vertical clustering allows IBM
WebSphere Portal servers to combine processor and memory into one virtual server.

Correct Answer: A
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QUESTION 4

To prepare the configuration tasks for a WebSphere Portal server to use a remote database, which option bestdescribes
the following properties files that need to be modified?

A. wkplc_comp.properties

B. wkplc_comp.properties and wkplc_dbtype.properties

C. wkplc_dbtype.properties, wkplc_dbdomain.properties and wkplc.properties
D. wkplc_comp.properties, wkplc_dbtype.properties, and db.config.properties

Correct Answer: C

QUESTION 5

Which of the following is not a valid WebDAV URL?
A. lwps/mycontenthandler/dav/fs-typel

B. /wps/mycontenthandler/dav/themelist/

C. lwps/mycontenthandler/dav/portal

D. /wps/mycontenthandler/dav/skinlist

Correct Answer: C
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